IELTS

i
T E H 1R
58132

(FARZ)

ELTS Reading:
A Practical Guide

A U wE

- & XL KT KR4
BEIJING LANGUAGE AND CULTURE
UNIVERSITY PRESS



H®EER
— Bk ()

IELTS Reading: A Practical Guide

(BiThR)

Ak HF

BEIJING LANGUAGE AND CULTURE
UNIVERSITY PRESS

ﬁ & X 2L KZ K RRAL




(R) FBF 1575

EBEmHmE (CIP) i#E

BRER-FE (FARFK) FAIHmE —2 | (BiTR)
—ibet: LRIEFKEHRAE, 2005
ISBN 7-5619 - 1560 — 8

1.
I. }ﬁ

. %% - WEEBCE - WE¥E - %K, B - HA¥SEWH
IV. H310.41

o A B B4R CIP Bl (2005) %8 155385 5 )

£ B BRER L (ERL
PHEED®]: TR

HEE#T: I ¥ 12T KT LAt
A CRORBEXSRES 155 HiBEgRIS 100083
Y $it: http: // www.blcup.com
B iF: RT3 82303650 /3591 /3651
MRIBEL 82303223
EERBE 82303653 /3908
: JERINSTEIRIT
: TEHMERIS

: 2006 F4 BE 2R 2006 I 4 BE 1 REOA|
: 8T EH X 1092 8K 1/16 HPBK: 14.5

: 260 T EDEN: 1—5000 fif

: ISBN 7-5619-1560—8 / H.05175

: 29.00 7T

AREGEHS | NS
SUEHN B

A EREDMA G MBI, BIE: 82303590



TR, BEERCBRASNER S EREEHSRLEARN ]
B, SHMEEARELRML, BELXRFREEA, TLED S H4, B
WREBERA, FFELELEERRBETLER, REFIAMT AR
GAAMEBRE, ERARFNEEAEATER, RRARAETHS
EHNES WETER, ERFETHE, B RRE LA ELRNE
THE, ARG G LB, B MY &L AUE R NETF IR,
Sh IR AR R I S ok, A KB E R SR

(BEEHIWERSER I LT ETASHEGSAREY By R
RRERINER, AL 0FURERFLBRIRETEENRISH.
(BEEKR) RENNKEEAREETEABELRNATAKERF B K
BT EATT AR FEANGRAT, A £ R T A AR &%,
B LB GEERY S TRATHBN I G, 7)) 5 09 F o R 8748 204 4 2
BWHEE, URIERARENELRRE, REFRE SASM, WHH K
BOERE) PG X) EAEMOE, § 2002 45 KUK, (B EER)
T T/ AR & A BRI E — % SO0 R K

ATHEREEVYEFH AL ERS, BE, AR EREREER
WEFERFPERFLRFRAER AR WL RS A S RBATT
BT, BRI ET P — R, S W T B0 % SR,
HEBITEN(REER)— X e %% AN EmERNES, W B ]
B EERRD Y ERRE

EFEEE RFEH R



H %

|F

1

—9

F—EF IELTS FAREPFREEIRNLE - coovvveererenns 1

BT IELTS FARFEBFYFEHLR - ocooevervrvemmeerannns 1

LA PFEEIRBRINE o 2

E=T REEH AR E KRR - 10
FTE IELTS FARIHIEE R RiERAE

BRI oo 12

B TR S oo 12

> PO U 13

2 B T 16

> TR 18

- 1 ol =3 SO 21

s 11 s 22

BRI T cevneerneerrnneenrersneseniereienenineneines 23

BEIJFN vevvernnerrnternneesiintnnieerinentaieeenanns 35

B FHREKEELREE(EE e 47

BRI eeeereerneeiiir et 48

BUGH  HERBLE oo 63

BRI\ cevreiiiiiiiiiiiiiiiiinii e 70

BRI HIHERE 80

B 5> 1 | TR SRRt 90

E=E REEEERETABEE oo 102

CEPUE AEHGREE oeeeeeeeeeeeee e 115

FERURIT — oveeveeremerner 115



= 1L [ N 161
ﬁMﬁﬁﬁ ................................................... 177
= 11 5 W -y Ry U 191

miggﬁﬂﬁ ................. ............ 206




B — 5
IELTS H¥ AR iHZNNE 'a

__________________________________________

AEWHE B WRZEE £ 5t IELTS 2 & % (Academic Module) [ 32 %
RA—MERNTH#, WAL IELTS ¥ R X WA R ALK, &/
by R A A R R B B RO AR

IELTS 22 AR 3 i3 %2t = 55 K B 76 800—1000 F i 30 E LA K 40 H
5] S A R, SR AR TE 60 43 PR B 52 30 B 9 (B 220 R, AR 4% 3 B SO A AR R
SR AT R, S8 SO 40 AR BE R XERE S B (B TSN
B JLUCE RS T E R — A, I 5 — g SO i IRl R v, T 5F =R
5B | B T TS B R rp BB Y BE A HE T R REALEY , S RCERA
REHFALLRIEE, FFEA - ENE LY, ZH AR R A
BERPRRE  HPES B EERFAREBISIE; TR XETR
HIBLE R EREIECFE B 7E % MR f SC R T AR I TR LAY
B RN A A . 45 80 B HEAE SCEE 5 T, {E 2 A RS LA Y (7] R 2 HEE

SR f
B ’i




i ME Lk —AR(FKR)

RS T4

5 HAL S AR EASMNEZ KA R KR IELTS B EE RN ER L R
1, WK A B LB T, RS LU R ELSE R T L R A IR B K F, ¥ AR
KRR XA GREUT LM SR 58 A TG R A
PG R WO A5 B A B A 23 SR HE B R AR AR A, T T A ke 5 e R A
BE—HITI A,

S/ 1. £T05%3E5 (multiple choices )

ZIE B E R N Z A AT B M S T b 2t IE A R, HAbdrde
E AP L R—MN AB.C = A B.C.D AT H— A EFHK
BRI =%—Uk—, i IELTS FHiEHREMEFEH ERERA T
RER—I, WA LTI, —BFARE U ERTMEE , ERER
H—T R EFET L T, MIERERTREE T -0, EF—FMEL
T, EBESPAAREHERERNOEE  FFUEEEIALRNLEH
B4 +THEER, EE THNEIT,

<
O/,

Question 20
Choose the appropriate letter from A—E and write it in box 20 on your answer
sheet.
20 A The suitable title for this passage would be ...
B Overcoming the language barrier

C How to survive an English-spreading world

................................ @



#—% IELTS FRA kA KNSB %

D Global understanding — the key to personal progress
E The need for a common language

Questions 1-3

The list below gives some of the factors that must be taken into account when
deciding how to construct an artificial reef. Which THREE of these factors are
mentioned by the writer of the article? Write the appropriate letters A =F in
boxes 1-3 on your answer sheet.

A The fishing activity in the area

B The intended location of the reef

C The existing reef structures

D The type of marine life being targeted

E The function of the reef

F The cultural importance of the area

SfL 2. % (short-answer questions)

o o S ) [ 2 R, A S R O 4 ) TR R TR AR S I E R A
RMEBEK, XA —ERAANL T =1 (no more than three
words) [81 2 [A] & , BT[] 2 ) 56 9 58 Bk B R 30 (from the text/
passage) ; 717 a.an the FI3E# A and A REFH, B IEEMBEER
e R o T LA B R B — 5 B R B S ATE M B VA J(AKANE (4R
BT R iR B A MR AT AL B IE B GE FF
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Questions 19-21 :
Using NO MORE THAN THREE WORDS from the passage, answer the

following questions.Write your answers in boxes 19-21 on your answer sheet.

19 Which members of society benefited most from the healthy lifestyle approach
to health?

J/A 3. #3545 BB ( completion tasks)

* 75 B FEE R #b 75 A) F (sentence) . 21T (notes ) . 7~ & B (diagram) .
Fi 2 & (flow chart) A% (table) PERAME R, EZ AR TE, TEME X
B, AN ER SRS PN ERANEMFZRNER, - BRERKAAZL
F =/ (no more than three words) [FI& A, HALFEEFTIFE L,

Questions 25-27
Complete the sentences below with words taken from the reading passage. Use
NO MORE THAN THREE WORDS for each answer. Write your answers in

boxes 25-27 on your answer sheet.

Tobacco companies are currently being accused of aiming their advertisements

mainly at (25).




Questions 1-3
Complete the table below. Choose NO MORE THAN THREE WORDS from

the passage for each answer. Write your answers in boxes 1-3 on your answer

sheet.

Made using old (1) To attract fish for leisure activity |

Forms large areas of artificial habitat |To improve (2)

Lies deep down to form (3) To act as a sea defence

Questions 1-3
Complete the flow chart below. Choose NO MORE THAN THREE WORDS

from the passage for each answer. Write your answers in boxes 1-3 on your

answer sheet.

(1) > respiration rate reduced > flowers will (3) :

flower’s (2) maintained /

J/A 4. +RBFEFEE (heading match)

P A TG A 1) 1) A — i 18 B AE SCEE T I, B SR MHETE 77 HE 9 B4 AL
(heading bank) —— El]—';f*\ﬂﬁ?ﬁtpﬁﬁ—'ﬁiﬁﬁﬁ(paragraph)ﬁgﬁﬁ
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EREHE LA BREARNB KBS RE, EE—MIELT, BRHIER
Yo HR SRS A 45 BT LR 0 LA BOIE B N A B4R, 55 40 R R B 4 NB #E
4345 X BE—4J3E . “You may use any heading more than once. ", {HIE X %1%
Hh 8 A Bt — AR AR S — A A B S B, BB AR BT S A A T
Bt —MXFR, —BEREEE— 5 ENRE, T — e R AR
WA —

Questions 14-19

Reading Passage 3 has seven paragraphs (A-G). Choose the most suitable head-
ing for each paragraph from the list of headings below. Write the appropriate
numbers (i—xi) in boxes 14—19 on your answer sheet.

NB There are more headings than paragraphs so you will not use all of them.

You may use any heading more than once.

Headings
i Gathering the information
il Cigarettes produced to match an image
il Financial outlay on marketing
v The first advertising methods
v Pressure causes a drop in sales
vi Changing attitudes allow new marketing tactics
vii Background to the research
viii A public uproar is avoided
ix The innovative move to written adverts
X A century of uninhibited smoking
Conclusions of the research

14 Paragraph A
15 Paragraph B
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16 Paragraph C
Example
Paragraph D
17 Paragraph E
18 Paragraph F
19 Paragraph G

5. W EAEHRIEERSE( YES,NO or NOT GIVEN/TRUE,
ffL  FALSE or NOT GIVEN)

S0 24 L SR 2 A B ) A P O BROR R T 5 SC R E B AL C
1= BN BARG S . EAEGEF B, RATKE HAE R (true) B (false)
T FLE 5 S0 2 R 45 B0 B P A W K B BR R AR I AR
(false) I, T IELTS R T XML X ATk, SXEFAR
H ARG A R R NO, 5 3CEE AR AR T #IBRA A NOT GIVEN, X
15 2 v B 2 A B ST TE BA EERMENEEESEHERRESY
H B 5k B YES,NO,NOT GIVEN &2 TRUE,FALSE,NOT GIVEN, —E
BB ENEREE.

Questions 12-15
Do the following statements agree with the information (the writer’s claim)in

the reading passage? In boxes 12—15 write ;
YES if the statement is true according to the passage
NO if the statement contradicts the passage
NOT GIVEN  if there is no information about this in the passage
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S/ 6. 5y FAETR( classification / matching tasks )

128 /45 P 1 B R [ P iR B 15 B 0 2K, IR S A R R BT HE B
XRBT BERRRBRHEF —ITELE , BOM7ER B X EZRT 50 T #
B 15 B A B S AT 4, LA 7 18] 35 SCF SRS Ath 5L ) A% BB I8 5 )
LA BT B 2R A 5 B £ B AR R H 3R o A R 5 288 531 B8 1 ) HE R 2 R SC
B H R HES B, XA E ST AT RSB SR F1 8 B REF P K
e,

ﬂf
e

Questions 1-3
Classify the following as linked in the passage to:

BR Background Radiation
AR Artificial Radiation

N Neither

or B Both

Write the appropriate letters in boxes 1-3 on your answer sheet.
1 produced by the human body
2 involves only safe amounts of radiation
3 is used for medical purposes

2

Questions 1-3
Look at the following lists of CAUSES A -D and EFFECTS 1-3. Maich each
EFFECT with its CAUSE. Write your answers in boxes 1-3 on your answer
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sheet.
Note: There are more causes than effects so you will not have to use all of

them. You may use any cause more than once.

EFFECTS
1 supply of electricity is hardly affected
2 oil can be stockpiled

3 less electricity is used

CAUSES
reserves of fossil fuels go down
reserves of fossil fuels increase

oil prices are low

loowse

subsidy is reduced

S 7. 5 ZE 4854 & ( summarizing )

S SR X SO B B SO EE R4 P A AT AR, — LA B TP 5L
S A AR A B 44 H A 91 R e T 2B SR M ST P o 1
GLZS | JE— R LRy RS A TR A B KB S SRR R
B SRS R S R B, MBRE AR AR, A
B A R T 4 A R X — 0 , B R AR R AE RO A AL

Questions 34-37
Complete the summary of the reading passage below. Choose your answers
from the box at the bottom of the page and write them in boxes 34-37 on your

answer sheet.
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NB  There are more words than spaces so you will not use them all. You may

use any of the words more than once.

How Happy Are We?

Example Answer |
Our happiness levels are  (34) by relatively few factors. affected |
For example incomes in the States have  (35) over

the past forty years but happiness levels have _ (36)

over the same period. In fact, people on average incomes are
only slightly  (37) happy than extremely rich people and

a gradual increase in prosperity makes ...

LIST OF WORDS

stopped slightly too
doubled significant some
stabilized remarkable reversed
no less

crept up slowed down

FEhERZ XAV BEVAN DR

R T4y B — B SCEE TR B AR R SR, {H TELTS %X/ H i
3R 2 R A o — TR A % L AR T R, TR A A A A PR ]
v EE AR DL ) A, Y B AR SO I B F AR KGR IRE ST . FARKBBE
ZiR FEW KA T B 68

@ N xETEKRE (gist) WEETT;
@ H i rEZPELHERNGE BT (detailed factual information ) K BE 17;
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® HAMEHBEERZEXE, MHE R XK (cause and effect) . B [B] 5 5 )
¥ 3% F& (order of events ) B X} H 5% 5 (comparison ) % B BE 17 ;

@ HEFERE I (inference);

@ P RIRECE R (fact, assumption or epinion) KIBES ;

@ U EH L5 (text organization) BB ;

© XI5 87 B (summarizing) B BE71

A4 955 = BRI X R S E AR TS SR

IELTS 53 %5 1A K9 A5 LA Bt (band ) B3R , BISLET 2 B RS BOR IR B
FHEIEMERNHEBRE LK, B8 90, K 0.5 40, AT
EREREASBZAHRBEREAKX, BE KT AR E IR
#, AR B EIRHE,

EHRERYE
1
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